
 

8460 

8300 

SUZUKI GSX-R 600/750/1000 
2000–2005 
Part Nr. 790 

 

873 

Between  

872 + 8300  

123221208 

872 

M6 x 25   

 DIN7991 M6 x 12   
 DIN7991 

813RM 

813LB 

M8 x 20  
DIN7991 

M8 x 25 DIN7991 

+ 123220508 

M6 x 35 DIN7380 

+ 123121206 
+ 816L + M6 DIN985 

M8 x 50 DIN6921 

+ 807 M8 x 60 DIN6921 

+ 807 

810R + 

M6 x 25 DIN7991 
 

819M6R 

818185 

M6 x 45 DIN7380 

+ 817 + 123122006 

+ M6 DIN985 
 

 

M8 x 20  
DIN7991 


